DIA4FE 48GE3FE (FILNERD)
. 4AeRENR
8| E| #8s 7 = 1 2 3 4 5 6
11 ®
2|
3|8
4 | B PTARGTESE (19.00~20.00)
5 W
6 | K BT « 1 ZHIAR ORI 13:30 15:10
7 AR AT (2~ 6ERIERE) 11:00 ERBFIAZE
s | == 15:00 15:50
9|
10| B
11| B | FE |S05UE - BHREQ4FERS5FO6FE 15:00 15:50
HHES | SIFUE - BHREQ 1 FO2HD3HF . .

121 X g |ozanzs 14:15 15:10
13| K| #2 15:00 15:50
14| K| FE |mEze TR 15:10
15| & | 72 15:00 15:50

e |ORESH, BEERE BERD) , PTAKS (hit, BE:RE .
16| L | &8 |xkm: 5828 (B = 14:10
17| 8
18| B | 72 |#hieE26-106-2@5-1 15:00 15:50

£5F |omREsn ) )
19| W BiE |2EZh2BRRBEE (65E, BE - =4 - 2R 14:15 15:10
20| k| mm |FpEEeS 2041942 15:00 15:50

e [BHBE@3-1@3-2@2-1 .
21| K| #8 |ane o 156:10
221 & | #= ??f%g%{§@1_1@41_2 15:00 15:50
23| & REHEESE
24| 8 BEHEER
o5 B8 w= Effg‘?ig%%@m?fﬁ@%;i 12:55
26| W | H3EZ |BAssRe 12:55

e |REBED )
27| K| #8 |G sme (RO 12:55
28| K| #FE |RBad (FHED) 12:55
29| & BRog
30| &
o550 sss 28 (A) ik (4AR1ESEE) 68 (&) BE (FREBL) 98 (A) PTARZEER 108 (U DERED

128 (X tELZET™R

198 (X wEZET™ 228 (B) 8=

238 (A) ik 308 (B) F&=&#HE




